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Question | Answer Question Answer
1 1 21 2
2 4 22 2
3 2 23 4
4 4 24 3
5 2 25 3
6 3 26 4
7 2 27 All
8 1 28 1
9 1 29 4
10 2 30 1
11 3 31 1
12 2 32 1
13 3 33 2
14 4 34 3
15 3 35 2
16 1 36 3
17 3 37 3,4
18 4 38 3
19 1 39 1
20 1 40 3
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Paper 11

Special Notes:
.../.../... indicate only one of the options included are considered as one answer
Underlined key words are important in a given answer

[..] indicates marking guidelines

1(i) (i) (a) Convert the binary number 110111001100, to Octal. Show steps in your calcy
(b) Convert hexadecimal number 752 to binary. Show steps in your calculation.

(a)

Method 1
110 111 001 100 (separate bits into groups of 3)

6714
8 (base has to be mentioned)

Method 2
Conversion to base 10 (obtaining 3532) and then to base 8
**Note : Need to show both steps of the conversion
[0.5 mark for answer,
0.5 mark for steps,
=1 Mark]
(b) 7524

Method 1

01110101 00100r 11101010010;(base has to be mentioned
[0.5 mark for answer,

steps 0.5 mark
=1 Mark]

Method 2
Conversion to base 10 (obtaining 1874) and then to base 2

**Note : Need to show both steps of the conversion

[0.5 mark for answer,
steps 0.5 mark,

=> 1 Mark]

Marks for (i) =>= 2 Marks]
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(i) (i) A flashlight with motion and light sensors is located octside a front door of a building -
‘on’ automatically when it is dark and when someconc am’rmcha lhc' door from ous,
conditions arc satisficd). The motion sensor lums fmn:l OFF (0) 1o ON (1) “‘?'tcn somen
the door. The light scnsor is ON (1) when therc is light and OFF (0) when it is dark,
The block diagram of the circuil Figure ! relating to this scenario is shown below,

) T

| Motion sensor

Fiewre ! - Logic Circuit
| . — ]
) (a) What arc the suitable logic gates for P and Q in the above circuit?

(a

P - NOT gate/

_{>z._

Q- AND gate/

{>. D Is also acceptable since the circuit structure is given in the

question

**Note: Answers without the labels P,Q awarded No marks
[0.5 mark each for correct gate=> 0.5 marks* 2

=01 marks]

The above circuit is modified by adding an OR gate and a switch |ON (1), OFF (0)|
below in Figure 2

[ Light sensor |—— P Q
[ Motion_sensor ‘-———l Flashlight

I Switch }
Figure 2 - Modificd Logic Circuit

(b) Identify which of the two in the following stalements are correct regarding the modi
given in Figure 2. Wrile down the relevant stalement numbers.

(@ - When switch is ON (1) the flashlight will always be on.
® . When switch is OFF (0) this circuit behaves as the circuit in Figure 1.
® - The behaviour of two circuits are identical.

(b) 1and 2

***Note: [1 mark awarded for all three mediums (Sinhala/Tamil/English)

= (01 mark]

]
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(iii) (iii) Assume that 4 bits per pixel are used o represent a colour in a colour representation syst
colours different from cach other can be represented in this system?

2°=160r16

[02 mark]

(iv) (iv) Sama goes to 2 bookshop to buy 3 cxcreisc books and 2 pens. After finding the ite
them 1o the counter where the sales assistant scans the bar code stickers attached 1o cact
information system in the shop. Quantitics of cach itcm arc also enlered into the syster
calculates the cost for each item and the total cost of all the items. Then the sysiem
for the transaction.

Write down one example cach for input, process and output of the information systcm.

Input — bar code, quantity (3, 2 acceptable)
Process — interpreting/converting/using bar code, calculate cost of items,
calculate total cost of all items
Output - bill
[Input 0.5 marks,
Process 1 mark,

Output 0.5 marks

= 02 marks]
) (v) The following ports labelled @-® are found in a computer.
A
= ¥
; . sty
® ® © ® ®

Write down the rclevant label of the port related to the following questions:
(1) Which port can he used o access Intemcel using a nctwork (UTP) cable?
(b) What port can bc used to connect a digital camera to copy photos into the ¢

(b) ->D

[1 mark each for correct answer => 1 mark*2

=02 marks])
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(vi)

. { v .
oK, o siven below was created using @ Word Processing software and it was formatied umﬁcucdw
by labels @ to @. Assume (hal the font size of the document 3 - ¢

Alter formatting

Before formatting
Covalent %mbegﬂ)w@

Covalent Bonds
Flectron sharing between atoms is another method

Hectron sharing between atoms is another method

i hem. By sharng of
f them. By sharing of | of forming bonds among | y g 0
et el : clectrons like this, the atoms acquire the noble

electrons like this, the atoms acquire the noble

gas configuration. Joining of atoms by sharing | gas configuration. Joining of atoms by sharing
clectrons between a pair of atoms is referred o qmm_mmn_a}mmmma is referred to

as a covalent bond. as a covalenl bond. o

Sharing of clectrons between atoms of the same

Sharing of clectrons hetween atoms of the same : "

kind gives risc to homoatomic molecules. kind gives fise o homaatomic molecules.

c.g. hydrogen (H2), Mworine (F2), oxygen (02),| c.g. hydrogen (H,), fluorine (F,), oxygen (0,),
nitogen (N2) nitrogen (N4 \ \

(Source: Science text book-grade 10, pl74) ®

Some formatting tools availablc in Word processing software are shown below with labels @®.®.

RER ARSI AR

]CJllbn('B('le v B I ndz‘-*lx:x‘ \ﬁm&}‘ nd) P ‘?.N.‘

[dentily the 100l used for cach of the formatting tasks indicated by the labels ® 10 @, writ down

the number assigned 10 the formatting tasks (D-@ and the refevant label of the tool.,
Note: No marks will be awarded if more formatting tools than nccessary are given in your answer,

1-A/L

2-L/A

3-E

a-F

**Note: For both 1 and 2, the same (i.e A or L) label is not accepted as the

correct answer
[0.5 Marks * 4,

= 02 marks]

(vii)

(vii) Delermine whether the following statements are True or False, Writc down the statement number and
whether the statement is True or False.

© - Intemet Protocol (IP) address is used 1o uniquely identify a compuler on the Intemet,
@ - File Transfer Protocol (FTP) is used to transfer files between remote compulers.

@ - Hypertext Transfer Protocol (HTTP) is used 1o exchange himl documents,

@ - Files and folders in a cloud computing environment can be accessed without an Intemet connection.

1-True/T
2-True/T
3—-True/T

4 —False/ F
[0.5 Marks* 4,
= 02 marks]

el
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(villy Some icons used (n graphic design software are labelled as ® - ®.

Amended

o

‘(v‘lli)
icolls)
@ ® © o
Identify the correct name for cach tool from the list given below. Write down the ool name against
tabels @ - ©.
J List: {crop loaol, lasso tool, hand wol, brush 100l, clone stamp tool, magic wand tool, move tool)
P Miéic Wand Tool
B - Lasso Tool
C -~ Move Tool
D - Clone Stamp Tool
[0.5 marks for each correct answer => 0.5 marks*4,
= 02 marks])
(ix) v The tollowmg: dagram shows the iteraction: hetween o user and o computer system Idenufy matching
terms for abels A ® g © in e diagram Trom the following list. Write down the label and
comesponding lerm
Last: [Hardware, Apphaation soltware, Operating system software, | iveware)
P —
.
(eoe @ Joo @ Yoo © )
A - Application Software
B - Operating System Software
C - Hardware
[10or2 correct=>1 mark,
All 3 correct => 2 marks,
=02 marks]
(x) (v Assume that @ dice was thrown 10 tmes and the 10 values oblained arc stored in an array named A |
The followmg atporthm with messng torms £, Q0 and & 15 used (o calculate how many Gmes number
S was obtuned |
ount = () [
Index of amay 0 | 2 S67189 |
| |

=0
whide < P A [—I"T:]

3
3

|

]
2

nonnn

o A =S then

® = count ¢ |
end o
NI
ond while
dusplay count
Wnie the comet terms for lahels ®, @ and ® in the shove algonthm
P-10
[01 mark]
Q-i
[0.5 mark]
R —count
[0.5 mark]
Note: Correct spelling needed for variables
[02 marks]
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2. (i) a0 Consider following statements ! (@) regarding 1CT related secuniy ey

(1) A maiware program that rephcates iself o spread 1o ather computers
tnsolicited (unwanted! emarl recened nto the ainbov ol an e witw are

2 Prewending 1o be . truscworthy communiestion allempting (o oblain someone ' —
of g hana woount m

4 Diplas anwanted promotronzl matenal o the Torm ol popups im0 webpgpe

Identifs the matching wems from the st gnen nelow for cach b the saementy 3
the statement number and the reievant term from the fimt
List: | Adwarc. Spam. Phishing. Bots. Computer worm, Frrewall |

1 - Computer Worm ﬁ

2 > Spam
3 - Phishing
4 - Adware
[1Marks *3,
= 04 marks)
(ii) e The dragram shows how g person warks on lis computer

Wrike two health relaied issocs that he may face duc 10 the posture

Any Two of the following :
Muscular Skelton Syndrome/back pain/leg pain/arm pain/frozen shoulder

o
e Neck Pain
e Headache
e Computer Vision Syndrome(CVS)/Eye (Strain/Ache/Irritation/Pain)
e Repetitive Strain/Stress Injury(RSI)
e Carpel Tunnel Syndrome(CTS)/Wrist Pain
[1.5 marks * 2,
= 03 marks]
(ii|) m Conaider the follom ag wenanos landlied 1 3

1 A penon copring bioemsed software downloaded from Internet and selling 1o others

2 A pemon logging nto 2 social media account using a slolen user name and o password

3 A farmer in onc countny uses agncultural information on web, while o farmer in another country
1s unable 10 use such mformation as he docs nol know how (o use computers and does not have
aces o Intemet

Identify (he surtable lerms from the bt gren helow for cach of the shove scenanos and wnle down

the mefevant om azandt the lahdis 13

List: | ey Cyher cnme, Digaal drvide, Privacy, Hectronic business |

1 - Piracy
2 - Cyber Crime

3 - Digital Divide
[1 marks * 3,

= 03 marks]
I/J
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3@ 3. (i) Consider the following figure which shows HTML. source file with missing tags and parameters labelled
©-© on the left and its output on the right.
HTML source
<'DOCTYPE himb>
<himi>
<body>

<h2><@> Milk Ricc </@><h>

@ s="milkricc jpg" ali="Milk Rice*>

<p align ='@" "@>Kiribath<@> is a traditional dish
which is fit for any auspicious moment. Kiribath also
known as milk nce is normally scrved with “lunu _
m_i:;!'- a mixture of '°i°"‘°'}‘ "l'd spices ”h:"" 35| Kiribarh ix a vaditional dish which is i fox
with bananas, jaggery & curries. IUs a must have for | any guspicious moment. Kiribath also known
<@>New Yearc@> ceicbrations & a popular breakfast | a5 milk rice is normally scrved with “lunu

dish 100." <o mins®, a mixturc of red onions and spices as
0> well as with hananas, jaggery & curries. It's a
>3 Cups of Long grain ricc (short grain or whilc ice)<li> | must have New Year celchrtions & a popular
<3 Cups of Coconut milk (thick}</li> breakfast dish 100."
dird 9> 1</@>>2Q> Cups of Water<li> * 3 Cups of Long gnin rice (short grain or
di> <@>3¢@>/<0>4</> Teaspoons of Salt <fli> white rice)
B> * 3 Cups of Coconut milk (thick)
</body> * 4 % Cups of Water
<html> * X Teaspoons of Sall

Sclect the comect ag or parameter from the following list for labels numbered @-@ in the HTML. source
code above and write them down againdt cach number.

__Lim: Joemer, b, br, em, img, justify, i, d, 3, sup, sub, p. tr, id, marquee, v, ull
1 - center,2 - img, 3 - Justify,4->i,5->b,6->ul,7 - sup, 8 > sub

& ---—meeee——1 mark each - €0.5 mark each>

[tags 1 to 6,1 markeach,
tag, 7 & 8,=> 0.5 mark each

=>1*6+ 0.5 *2,
= 07 marks]

(ii) (ii) Detcrmine whether the following staiements are TRUE or PALSE.

@ Number of pixels can be reduced by removing unnecessary sections in edge of images using
Crop/Trim iool in graphics software.

@ Size of video files can be reduced by making the frame size smaller and reducing the resolution
of image in a frame.

@ The size of andio files can be compressed by decreasing the sampling ralc.

Write down staicment labels (- @ and write whether the above statements are TRUE or FALSE.

1 - true/T
2 > true/T
3 > true/T
[1 marks * 3]
=03 marks)

80-ICT (Marking Scheme) | G.C.E.(O/L) Examination 2017 ‘
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e o some Asin comies i B yean TO7T ]
The folk $ segmul:huws(‘o emission (kt)
4(i) el owing spreadshect o i’ﬁfﬁ"l
1-—J' lﬂudn-&c-b
oy b wn 3004 | cuerenrs | Peremmge

am __%
3 [Pan

;!E _y,u_m;;};-!_ﬂ_j____-——
7 it 217aes. 10| 2238771

.ﬁ!z ST 12Y

FS42322| 18996T2

el Lok
|’| Mo reo| _wrmd

11 e O, ke 0}

(source: World Development Indicators)
ﬁ)wnwmmfmmmmdumm |nd|ml0ﬁlﬂl|ltdi"mdm'cmi§im
between years 2014 and 1972 in Bangladesh.

| Difference = Valuc of year 2014 - Value of year 1972 |

=C4-B4
OR
=(C4-B4)
**Note: No partial marks
[correct answer awarded 02 Marks)

(ii) (-i)w&umufmmuumu-ﬁmindlunoalanmthcpcmmpimomr,r
emission from 1972 1o 2014 for Bangladesh.
|m|m=mmuywlm)noo|

=(C4 - B4)/B4*100
OR
=((C4 - B4)/B4)*100
OR
=D4/B4*100
OR
=(D4/84)*100
**Note: Exact answer required and No marks awarded for incorrect/incomplete excel
formula syntax
**Note: No partial marks
[02 Marks]

(iii) (iii) Assume that the two fornudae entered o cefls D4 and E4 arc copied o the cell range DS:EI0.
Write down respectively the two formutac displayed in cell D9 and E9 that are rlaled (o S Lanka.

=C9-B9 and =(C9-B9)/B9*100

OR

=C9-B9 and =D9/B9*100

OR

=(C9-B9) and =((C9-89)/B9)*100

OR

=(C9-B9) and =(D9/B9)*100 ****Note: if 4(ii) answer is
=(D4/B4)*100

respectively in D9 and E9 cells
**Note: No partial marks
[1.5 marks each for correct formula=>1.5 marks*2,

=3 markS]

I—
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((i\-) (iv) A formula in the form of =functionl(celll:cell2) is wrilten in cell BIN o calculate the tol
in all countrics in 1972. Writc down the relevant terms for function!, celll and cell2.

functionl = sum, celll =B4, cell2 =B10

[1 mark for functioni,

0.5 marks for cell1, 0.5 marks for cell2)
OR

=sum(B4:810)

**Note: No partial marks

[02 marks])
(v) (v) Name the most suitable chant type in spreadsheet software to show the CO, emission of given countrics |
in 1972 and 2014. ;

Bar chart/Column chart/tire/Area chart/Line Chart/

22 Note-Hplechartisincludedin-the-answerno-marksawarded:

Note: If attempted give one mark

[01 Mark]
5(i) Assume that the following datahase tables arc used to calculate the clectricity bills. The some rate is used
to complcic the bill of a given customer. '
Customer_Data Tabk Rate Table . Uspge Table
Name Acc_No | Type Type Rate Month | Ace_No | Units
AB. Silva 1001 R 10.50 January | 1001 185
V. Balasingham | 1002 C 1850 February | 1001 280

$.S. Gamage 1003
R.T. Alles 1004

Janwary [ 1002 165
May 1003 270

~lmIn)=

(i) Wrile two primary keys and their comesponding tables.

Customer_Data (table)-> Acc_No
Rate (table) - Type
**Note: No marks awarded, if more than two answers

written
**Note : if more than one field given for a table NO marks awarded,
‘ ’is NOT essential for table names
‘ ’is essential for field names
[1 mark*2,
=02 marks]
(i) (ii) Write two forcign keys and their comesponding tables.

Usage (table)-> Acc_No
Customer_Data(table) - Type
**Note: No marks awarded, if more than two

answers written
**Note : if more than one field given for a table NO marks

[1 mark*2,
=02 marks]

80-ICT (Marking Scheme) | G.C.E.(O/L) Examination 2017 . - y : “
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be the most suitable table in the datahase to add the field customer_addressy

(i) | Gil) What would

& bl :
| Customer_Data (table) +*Note : if more than one table give NO marks awardeqg

Note: Underscore u-l' optional for table Names
01 mark)
if 2 ncw customer called ABC Navaz of type R has used 129 ity

(iv) (iv) What tabies should be updated
{ for the month of Apl?
Customer_Data (table),

: Usage (table)

i

=*Note : if all three table names are given no marks awarded

(0.5 marks*3,

- =01 mark]
(%) Wak Gown B i rows 2nd thar repecive ble names for the updales given (iv) above. (Assume
Lt Acc_No is 1005)

Customer_Data (table)-> (A B C Navaz, 1005, R)

Customer_Data (table)

| A B C Navaz,

i 1005,

R

OR

Customer_Data (table)
Name - AB C Navaz,
Acc_No -> 1005,

Type 2 R
OR
Customer_Data (table)
Name l’ Acc_No Type
A B C Navaz, l 1005 R

If the entire table is drawn and relevant record is included the marks are awarded,
[1 mark * 2,
= (2 Marks)

Usage - (April,1005,120)
OR
Usage (table)
April,
1005,
120
OR

Usage (table)
Month-> April,
Acc_No-> 1005,
Units—> 120

80-I1CT  (Marking Scheme) | G.C.E.(O/L) Examination 2017 . /ﬂ
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| OR

Usage(table)

’ Month Acc_No Units
April 1005 120

entire table is drawn and
relevant record is added, marks are given
**Similar format of presentation as above are also acceptable

**Note : each table name with all relevant fields need to be provided to award
mark for each table

If the l

[1 mark*2,
=02 marks]

(vi) (vi) What 1ables should be joined to run a query to find out the total bill for AB. Sifva for January?

Customer_Data (table), Rate (table), Usage (table)
Or
All three tables
**Note: No partial marks
Note: Underscore “_" optional for table names
[02 marks]

6 (i) (i) Consider the following scenario related to the development of a library information system.

The librarian proposed to intmduce 2 new computerized information system to manage its opcrations.
Anwar identificd the requirements of (he propased system. Then he designed a system that satisfies the
requirements. Based on (he design made by Amwar, Malanl developed the sofiware., Krishna tested
the software. Saman ingalicd the symem in the library. A few months later, Malani fixcd problems
in the new system and modified the software print two additional reports. L
(2) Who is involved in the coding (implementation) phase of systems development life cycle? |
(b) Which phase of the systems development life cycle was carricd out by Saman?
(c) Which phase of the sysems development life cycle was carricd out by Krishna? !
(d) Write two diffcrent methods that Anwar can use (o understand the requirements of the pmpmcd;
sysiem.
(¢) Anwar asscssed whether the now system is able 10 run with the availablc computers In the library.
What fcasibility was assesscd in this scemario?
(a) { Malani [1 mark]
[Saman is also acceptable as correct give 1 mark])

(b) | Deployment/Implementation phase of a System

[1 mark]
(c) | Testing and (Debugging) phase/Software Quality Assurance phase
[1 mark]
(d) Observation/lnterview/puestionnaires/Document
Inspection/Prototyping/Document sample inspection
[1.5*2 marks,
=03 marks]

(¢) | Technical Feasibility

***Note: [1 mark awarded for all three mediums
(Sinhala/Tamil/English)

=01 mark]

———
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(ii) (i) The The following nlcpt Al show the process
A - Request 1o trantlate WWW. ik domiin name
Name Scrver)
B - DNS retums (he 1P address 222 165180 150
. nders the HIML weh gt
l(; :Z: :::: :nd‘ a ‘hup Get' roquest 10 the wetmerver with the 11* addiess 22206

E . Webserver with 1P address 222165180 150 returme (he Im) data elrvan
Tl
5 F - User opens the web browser and eniers i fwww e |

' The following diagram st the proce s related 10 the nbove st of stepa, The latels {

| mmaldwdwimnc;llll)mdﬂm
® in the diagram in the correct order, Write down

ot e

~on o

pectively. Match the remaining Step with the lulx
the label and the unmlnuulmg m,,

o

Do ol oo
K , o2

User == nrowser
®.

©) MWIW'

: 1-5F
I 2 9A
6 >C
OR

| FrArG

| anardwlmmm
marks-are-awardod
(1 mark* 3,
| =03 marks)

' 7(i) (i) The following fowchant thows 20 dpnon that reads (wo numbers and display the smaller number,
e

[OSmAYA /[ DISMAY B /

| 6D

Write the pscudocode for the algorithm in the flowchart given above,

80-ICT
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(i)

i Begin

l

End

Endif ** Note: Endif optional since there is only one
statement after Else

Input/Get/Read A
Input/Get/Read B
** Note Input/Get/Read A,B is also acceptable
If (A>B) then
** Note: brackets optional

Display/Show: Print/Outpur B
Else

Display/Show/Print/Outpur A

[Begin/End Or Start/End => 1 mark

“*Note: Both (pair) should be there to award marks
Input A, Input B => 1*2

marks = 2 marks,

Completely correct If statement => 3 marks,

= 06 marks]

P—
0—

(i) The following flowchart reads Bree rambess and finds the smallest. Write down the correct cxpressions
for missmg labels © ane @

B>C orC<B
A>C orCxA

[2 marks for each correct answer => 2 marks*2,
= 04 marks]

T

e
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oS BEa0m0 CRE Ao
sﬂem_ agﬁsqy;g,s\) om Ffwnen elenLsE yeirefll eigLd

80 cr& / Gurgsl yseilsst 0L X 40 = 40

el ade O CRG qires DITH.
oo SeaemS (Scdm o8F dpdiea cSaduged gdmm 8510
& GOUSLIU RBHSGD n_g,zrgaug,ép@ oeww uBsiey elamasEs@iiu yetalsamen usLBzjey
alamiusHrsHat @mPuisd LvHs.

B8 BEQGT ©oAO 25 loged 80 cR@E 5
sfwren elLsala QFTens 40 ugdr | @a1 Qurgsuysief 40

e A AW Al oot mma) P - 17 | aferd mesniDe erned o (20 MT—




1l 87

098 BEQ0, aqlyt ewi onl BERIT 9CO ACED 980 Cou 0O et 43

A8 BEns mem yoreads eb.
2027 8 a8 ¢ e BEQS wew Higod ob.

[....] cr& 89 ogm ape On S0 cosibOOl

i ion.
If any ambiguity occurs in the instructions, please refer the Engishiversio

—

1) | ) @) 110111001100, om (Do andmd peie edm 800 cBotomo vk, 8o 0o Boe8
l m:rp“w.mmm-mwommw
' G bl
- —_—

(a) | g

110 111001 100 (35 3 &&= ot o0 A8)

oI (o3 mqwzd Ba )
(80168 BEQd vem cne 0.5,
Bwbd wew cneg (.5,
=cneg01]
2 98
8e80 10 24 ©50> 3532 cah ;A o opd 8 vxwd vode
Podh s\e Po \Acvta +h be (8068 BEnd uem e 0.5,
vopskiaiagd 8ub3 wewm g 0.5
=cnall)
(b) 752,
| 8
0111 0101 0010 >
s o |"0|0|m|0: (&Q’-" sew: ! B qu, :
(8068 8896 vewm e e 0.5,
8ads wewm cmeq 0.5
2 s =cag 0l

:
|
BESE 10 2060 060 1874 3 0, B8 o o0 2 3¢ 2689 :

|
|

s [80:6% 88n6 sew a5 0.5,

‘ 20 - ewsingd, = axfedon smmec 00 diedec (Cug 190 cBoda) | secem - ;‘%—;—I




o Brsr ocunlexigd crus edaned

~ Bubd vewm e 0.5,
=cng01]

[l gdesa (i) omode, e 01x2 = cna 02]
Method 1
110 111 001 100 (separate bits into groups of 3)

Gli4, (base has to be mentioned)

Method 2
Conversion to base 10 (obtaining 3532) and then to base 8

(0.5 mark for answer,
0.5 mark for steps,

=1 Mark|
(b) 75216

Method 1

01110101 0010; or  111010100102(base has to be mentioned
10.5 mark for answer,
steps 0.5 mark
=1 Mark|

Method 2
Conversion to base 10 (obtaining 1874) and then to base 2

[0.5 mark for answer,

steps 0.5 mark,

=> | Mark]

Marks for (i) => = 2 Marks)

(i) (if) 68 e-eBimcd (mation scoscy) o Greain ceetenadd (light sensor) o Jdo ooz (flash light)
eodemiden off eg0 Bofis elind qm. qpd chfin g oo of ememg BOBH 0¢d ebo
€ Om qbsh eg» & c8plisi Om B0 oo cltafad rda?d (ON). exong 06 oload clean
80 68> eseOcaa OFF () ghxined 82 ON (1) g0eitatd ot e0. mociac cbfim DO meck
ooedcma (light sensor) ON (1) gDE500 ol gmd ged gr8 80 6o OFF (U) 4060 exied. #6@
©:8¢000 qpg cloded mB cleweed (back disgram) ozo oo | 8 (B q.

) g Ll s ] )

oo | - olien aieds

I
(a) (@) g0 oBoded Pes Q memn aon nbfs ¢0xd (logic paics) o€ ¢?
P —NOT ¢oade end gorc sedne,
Q- AND §O6w end 84c sens

'S x2 =2).

w-mmumm-wmmwmnm(wam-mnmmanﬁusﬂm“




cves edin. g
& om0 Dwsd eseamBalxigd

| P—NOT gate/ 3:<-‘A\,_\ s—é-.\:c\c“\f ey copied tho

- b
Sl c-\\ozy‘m c-d Yhsevhed corrocp

Q- AND gate/ \06/\1 cﬁa)rcﬂ) N S AT ) G\Cce@\cct

4 0m: P o0 Q 0CAE e BEDG 8369 CR 4G oxnced,
b" [o= RO ¢Badws Bem CRG 0.58=>05+2,
D alse &(cer\'fA = e 01|

**Note: Answers without the labels P,Q awarded No marks
[0.5 mark each for correct gate=> (.5 * )

= 01 marks)
930 c8cd0D Groo 2 B ¢=iEn o 602 dBecsd [ON (1) OFF ()] e OR ¢oadaxd wgt o

Goo 2 - cseailo olon ofcdo
(b) croo2 8 ¢xttn gr8 seoeiln aline 6300s ool con § ;i Oowf gredn Ren Dol
© eBoe ON(1) erd B0 2da cum gdet.
@ eBoa OFF (0) B0 088 oloda, drao | 6 ¢xith 1 50000 B eco Goxien of.
QO ofos ecenBs 085 elms o0,

(b) leow2 1‘?&--1\.'\ Py, TR Atcwg\akbh$ Ve \~V‘COYYC*
***edun: (088 emdzd Bag® 8dnus! (Bewc/ec/pd88) wew o
cRe Yens ndg Ced

=01 mark|
land2

***Note: [ mark awarded for all three mediums (Sinhala/T4mil/English)

=01 mark|

(iii) ﬁmmwmmmmmnuwuwﬁwmwm

ﬁ?mmmmmmmmmm
ag

2 ¥¥§ens 16 lone 02]

2448 0r 16 ‘

[02 mark]




dous edomad

JO’H ocamledrigd

@Tr (v) qums ocud el an orel ocmul Soll eSO s sond mcfmd ol 008 W smmed
og % aguiDie o0u ven 8 eudl. sDegy amen S8l 4t got» arf 8 enbs

(barcode) emcigetil gyl smmdcgd, o080 giOslegy (xm) crell O Oul elinded gisst ¢ (08O

qrp0 oy ored. oDiks S o eSoband B¥re oo Sux) «BeslC Rt B0 e noy

Crefl. eulcp emecEd som Bom s wip cred

=e emdgdy 8@ gm. G0 we phan ecm 08 g Sl S cxibuin.

L R ot 2 R
T g - 40, o, 08 O 0800 eeea ( 3, 24 BDGEB)

808w - 46 el verw OAS(gbOmOnW) / BOEBHE, q85®
880,0/03znm® namne B30, Boc® ¢8200¢ ¢ 88H;0/00mm® 05w
B30
glome - o
[pove -cng 0.5,
B=:08a - o 01,
ypmo - cne 0.5
=cneg 02

Input - bar code, quantity (3, 2 acceptable)
Process - interpreting/converting/using bar code, calculate cost of items, calculate
total cost of all items
Output -bill | ?n'nh'm) e bill
[Input 0.5 marks,
Process 1 mark,
Output 0.5 marks
= 02 marks)

(v) ) cOsanes gund crebe enctd (ports) 8o cun @ - © edicoBsl itn ara.
. T T
@ ® © @ &

oy wemed gt G0 g0 emetdiect sioo Boo ok

(D) Q“Mﬂﬂwww*-ﬂn*-q‘(
o) *Mﬂmﬁqmm-‘um*“

o ug wb ¢t ; )

(a —>E

(b) —»D
[em B0 S%, BEnoxd oemn el => 172,

= cng 02)

[1 mark each for correct answer => 12

= 02 marks]
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(vi)

Sl LDl 4 ol LY

{v) g:‘m.”w",qqub
eOmc nd eentyd B0 oomels.
sxded) §080 &0

CXur e¥Ineg

mcﬁummmwm

ufed 088 O

Srntlent Bondee—— 1) 0

mw“"mm
mumhwmd
mﬂhﬁ.““mhm
configuratin. Jolning of atoms by sharing

Bl

-

dlectrons between 8 pair

as & covalent bond.

Sharing of cloctrons betweea aioms of the Eme

Mﬂmhnmm

¢4, hydrogen (H2), Buorine (F2), oxypen (@2,
nitrogen (N2)

Songe: Science text book-grade 10, pIM
ecxi: a1, v ,

W“"Ww

2 & covalent bond.

mdmmmdthcm |
HM#”WM ;

pitrogen 3 \

otuad ©80® i ) et 2800 oo Giowd

(D 8 ® oty ou0 86 scsts e 000 exel0® £ 000 G 8 60008 bfmIRm ¢l |
¢xd quusd eypecs o8008 e gaisia o (Dt
(a0mo ; gbu: pisead 00 08008 ecde guied G qiind (@ eonored)

% bedbs

3 &

1-A/L
2- /A
3~-E

- o A
S\no(—\\d be A .

b e
)

Cecrne \

WD) s L

4F
Ne C}\'m(,\(‘— \¢\'!’1"’) Tt AcC e ()\‘CC», [GQ§0'5*4)

= e 02]

[0.5% 4 Marks,
=02 marks|

(vii)

@ Mdﬁa&ﬁwqm '
B0 ety meidad; SodDio oo sl
§ 1ML oo g i ot 2 o ncicy Bl (HTTP) b

@ ocme (doud) oBosa oSaded
ous889 8880 oyl o %8l e 50 309 (fes and folders) 000 guotichrs 6o

80 - emxdind; ws b '
ouniBedim memaa wﬁ*amtnehba)lmn(wbm-un?lmm e
au oe @3° m

S T — BB
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s
¥

g g b=

. Cous ed8ved
.‘.,.G'I-'tb

- ooBel/HN6EE/ [/ 4.5
2- ooseB/IAOGRBIT / g
3. eoseB/B0GRET / &
4- quoneB/O6RBF 4 pus .

cneg 0.5 *4,
= cng 2]
1-True/T /covrec}
2-True/T / covvec)
3-True/T [ covvect 9
4-False/F [ woorect yncovrect
[0.5° 4 Marks,
= 02 marks]

(vlll) (vﬂ)uéwidamw.ﬁmwm)wmwm(m,

T RTeE

@ ® ¢ o
oue ¢ulty o #8000 mud Crlidigetnl AR #8000 wela ppwmen: & @ 80 B sea )
ociic oiSed! & ultuim

o090 @b giking : [0ud $3s8 (cp) o8LCH. ¢ on (10800) 080CH. qdf (hand) S8OCE. AR
(brwsh) o028, slecyific fic: (clone stamp) @0UCO. &1éud ouD (magic wand)
o800® tew (mrve) o8Le®]

A - 98t 0¥ 080

B - creed 0908
C-0¢» e®e®

D - SeciBe 8 @200

[08 80,68 BEnod wem cme 0.5=>0.5%4,

.= g (2]
A - Magic Wand Tool
B - Lasso Tool i
C - Move Tool i S
: vt~ A8, D

D - Clone StampTool

[0.5 marks for each correct answer => 0.5%4, |

= 02 marks] |

'll ‘:.Q--u-ﬂ-h—ud&hmhmlmwh-lmlﬁ-&w.ﬂ:n




Swur edered

3§ co» Dewr scumlelrinl

W‘dwwmr—‘
(n)_ad,eood’bqﬂm-*..‘ i

i
o o o ®, ® o © ectiotcD esce o cea -
o oxn o cutnte \ ctomgh 008 Ggmse
phrirs (hasdwase) M*‘#“
(aca)es( ® (O ) (e ).
A - D30mBn/ewng® Sigmreo
B - oPenyg® {05 Dagmro
C - g0
[(BE8r< ons oud oo AN O - CRE 01
BExqa 900 B0 »O crg 02
8o cneg - 02]
A - Application Software
B - Operating System Software
C - Hardware
[1 or2 correct=>1 mark,
ALE C shewld be All 3 correct => 2 marks,
= 02 marks|
8
(x) (V) ¢35 meoou catiod b ¢ cretn eeost 2 08ut quitn o 90 (AMRY) q20G®S (sOrE) @3 1o
c.-au.u-s.—-—nuum.l.mme.ﬁnﬂm
“Kloﬁ'—c"c‘“w-ﬁ-ﬂmd
o Gowe 01234356789
i=0 etn emo
s e Nnpopnoanon
Qocomw ¢l
ek
end whihe
display cown
ouve ndeetosed souits g8 ©, 0 = @ edie ogm BO,R o 8on (et
P-10
[cmeal]
[01 mark]
Q-i
[cne05)
[0.5 mark]
R - count
|
[cm&o.Sl{
(ount clhiowld be cod Y,:;_Hj [0.5 mark] |
5 nelled |
P [8g cnra 0111
[02 marksl
]

90 - smndnh = eslfiedcn nmmac -
= w ' ""“""'M-—h.—dm




(& =
‘i‘. ole®2igd cwrur edenmad
Q"a..: Buur eges ’

2.() mm;;@-‘cﬂow--&o.;mqﬁmqql&@ﬂ
0ol oom> Boue.

0 conyd Doae sxm o@B80 efids (maiwmn) Seganaas 0o Bl § g8 (replicatss) BO

O B e iganeas Grefe 88 decs dowme (nbux) e0n. Bode oiB0W cwdB0
Vmolicied) Sl meond! 88 a0

@ Sdicho et mad 8 80xuil o qeoned My Bgds oOloe meo (o) s
i o¢o (puwwond) o eyB60 oydl 809

@ «0d 800m ¢ embdas poim odf@ ovd 988 Cw (pop-up) Sedw Bemn souile
von 2 18 © - @ cxitn Deriitnd ovoecw 05 ouo 3z SekyeO sakieew &E -0 Bece!
8o gt

cxglide: (cntas pOde guld (sbvws) @lo sod (em), og S@ (phisking), 0B
oheliDn, (box). sloue 009 (compuer warm), Slego (frewall)|

| = sBoan O5®
2 = podo mene
I D ®
4 — gmdas g zIDe
[eme 01x 4,
= cng 04
1 - Computer Worm
2 - Spam
3 - Phishing
4 - Adware
(1 Marks * 4,
= 04 marks)

i (1) dyced e ersiosl gluousl o0 Bodne ade ade gk & ped
W 98800 (poste) oy Og0 fge 190 B¢ Be ayd cusls «BBu o10n
ond 8= cultube

* oun oqust S8s B 02:=:

o odd gl svcema/emsied ebznd(m o)
o edcec obemmb(mymng) {
* Sodge

* oloen (Ed svcueaa/yed 0Dt/ god mBnd, god &N
¢ am®OSS aand 8 / 2»a»a (RSI)

¢ MmOC-edsn cvcEumas

[ene@1.5*2, ‘

=cag 03] I

Any Two of the following : t

® Muscular Skelton Syndrome/back pain o \eS VG*’»” /POO* Péio (’ Frozen |
|+ NeckPain _f""’““""

{

D-w-*p—qﬂmmhehhlmml—:-.ﬂﬁmwﬂﬂ:-‘




d 2z D ecuntalyiyl
® Headache

* Computer Vision Syndrome/Eye Strain/Eye Ache, Pain / cVs
€ Treikeron
* Repetitive Strain/Stress Injury(RSI) =

* Carpel Tunnel Syndrome /w~r(5‘r Vw'r)/c T5
[1.5 marks * 2,

= 03 marks)

B a4
S i AR

(iii) (iii) @ - @ ocae0fs! ¢tr 418 con ol =8¢0 oem Bcvin:
® raisbmcudmcqmn&:h{n-ndiefmwﬁwadqdnou rae.s
@ mmaa@w-mdmww@aﬂwqmo

- |
I

@ w@m@mﬁﬁﬂcmaﬂwwﬂowmm,mg
meMMqvuammmGMﬁmm

enxind exlio 5380 sou=S D8
m@-@w(qﬁmqmmmmwmmemﬂ‘wd

e:‘w : |orsdcs (pimcy), 0855 qodd (oyber crime), a.8a 08g8 (Ggitl divide), eonsfizcity
(peivacy), Bcnsf Bzxend (dlectronic business)| ]

| — eapdegosion: e,a}jé-;%acr |

2 — 835 eer
3 — goip 0AE |

1 - Piracy
2 - Cyber Crime

3 - Digital Divide
[1 marks * 3,

= 03 marks]




Cwrun e dinat
& 2o Dosd siumlo®rinl Cras e ¥onad

3(i) . () amvs'an-Omwwmqacmwlmmtmm)mme
qummmmsoﬁM(w)mm:

HTML. smge Qom0
<!DOCTYPE tumb Milk

<body>

<4A>-4@> Milk Rice S>>

B sre="milkrice jpg* al="Milk Rice™>

< dign ="@> *<@>Kiribath</> s a traditional dish which
isﬁtfmmynlpidoumlirihhdmlmnu
milk rice is normally served with “luny mins®, a mixture
dredmiomnlqim--dlnvimm.m “Kirtbark™is & teadilional dish wheeh 13 fit for

& cumies. Its » mumt have for @>New Yewr<@> | amy ampicious moment. Kiribath alvo tnown
¢alem&umhhw-dhhm.'dp = milk nice i pomally served with “luna

b3 Cups of Long gnin rice (short grain or white ricc)</lb well & with benamas, ggery & cumis. Irs &

dD\Cn;ldQnmm‘ll(mick)db —h\th\hm&npm
o4 B> 19> 2/0> Cups of Wateri> treakfa dish wo."
deWMdeSldb * 3 Qups of Long grain nco (short gran or
<> whitc rice)
<body> ¢ 3 Cups of Qoconue milk (thich)
<htrat> * 4 % Cups of Water

* X Teaspoons of Sall

[ ) :Icum.b.hr.c-.iug.jldfy.i.d.s.mw.p.t.d.mm.n.dl

MV e e e e 2D e . » — T e .

1-> center,2 - img, 3 - Justify,4>i,55b, 6 ul,7-> sup, 8> sub
[1-6 ¢800 08 et 387 e

7 o0 8 wsqw e 0.5 38

=> (1*6) + (0.5*2),

=8g caa 07)
[tags 1to 6,1 mark each,

tag, 7 & 8, => 0.5 _mark each

=>1%6+0.5 *2,
=07 marks]

(ii) (i) ovo equet Ocvi cas end guoe 8 SSeo ndvin. .
0] wwmwm(awm)mmmm(im; ¢xSUe
Q(imw.wnd&cpb‘a@-queou

Q@ mQ@M(N)M(MM)meCHQ’OM(!nmuirr)
q&mqudwog&&cgaquﬁoc.

@ Ml@@(ﬁqm)“muw*mwmwms.ﬂec.
QDOdmw&mMummqem

] = amn /.;GQ\GQ,S &

2-»5&:5/ ;S;\é_(if/ S

3> enxs / 9\"?"/ -1
[cem01*3
=cng 03]

80 - emdnd; o exiSed(n nxmac -md Bsdnc (Cre 1e® 03030) | g.em.o. (muene) Bmoo - 2017 | gdax cealtn qued Be G0 .



3

S Desy Scomle®rigy

Cro: e vEras

15 true
2 - true
35 true

[1 marks * 3
=03 marks)

4(i)

!memwmuaeagm |m:nzouaaw.ocgq=ea@aucamm,mm
(kt) 885¢ eoxiqs; o0,

2

(1) Bedicrednc gz [ 2014 oo lmmm,m.doWaomsaemmqm
Q:WNmmhMlﬂu:mIde-lmmml

=C4-B4 N

.
(ovveck use of breckefs T 0mi0d wew e o

ave acepied, (80168 BEnG egm e 023]

**Note: No partial marks

[correct answer awarded 02 Marks)

(ii) (ii) mmmgm,mmﬁmo&nmm&mmw“
mm&%mmm:mnmemum;

=(C4 - B4)/B4*100
OR

t

Cerveck  wee o’f/ brechkefs
=D4/B4*100 ove  cacce P*rfol

** emdd sew coe o E

[cas 2]
**Note: No marks awarded for incorrect/incomplete excel formula syntax and exact

!

answer required

**Note: No partial marks ‘
[02 Marks]

'°"“‘*‘l“MM'QMWWMNmn(wM-zommmmwdu?‘“"‘




9 oo oo Se2rinL
o BesT

/I‘\\CTQ {\5

(iil)

(iii) D4 m E4 e=dobed qmed! o¢ po o3, DS:EID exde
odzin. § C==000 eegd N9y E9 exdnde

a:beoo&)edﬁa-dqa ceadone
S 00 g ae 88808 8o (uiri,

r-cg.w esw =(C9-B9)/B9*100
ov

'
B b eed DB

.9-89 and =(C9-B9)/B9*100

A\

[958 o= B8 vOd® s®ncese B O 1 Bt =>1*2,

D9 % E9 exdude §NBERDE ¢xfed

XX 000m : 0m00d ews CRG MDD

\'S XD. - 2 MC#'QS

respectively in D9 and E9 cells
**Note: No partial marks
[1 mark each for correct function=>1 mark*2,

= 2 marks])

(iv) ¢ m® Bogy oo 19728
MBIIWM

(@iv)

£ (0, Bodion: penc o3 scxdéo wfunction!(cell] :cell2)qrmrsed
Qol[nml.maluwlnomo( 8 ¢=ozim,

functionl = sum, celll =B4, cell2 =B10
(a“S: B'O’ cellz »

a\so occe P\'ﬂf .

PUV)CA\'OM.& -~ | wes
(0‘"1- oS T bich
cella - o5 werks
OR
=sum(B4:B10)

(C] [0 3 BD108 ® =g 28,.
oo A n8Cxng 18,
omd AP 2% cmyeg 0.58]

ks d

[2 marks for all 3 correct,
1 mark for any 2 correct,

0.5 marks for any 1 correct)

** omdd G B
[cne 02]

**Note: No partial marks |

[02 marks] '

|

o v*c\asr\'c\bs\x\'(v be’*‘v’“‘t‘(’f \")cﬂ/ ﬁ e

Ay

N-wum—a-wmmtdmnm(wm-m1lwmwﬂwmn

F—.""Fv.w- -0 Y P hidedNeats Zin T ARt e i iy b adnd > afh

viAEs, 7

R fa et Satre

T T e ——— ¢

ey



)

(V) Tl 600 1972 201408000 00,
" ooy peim O30: B8 N

'?l\“"ﬁ)

008 yefmad/ & yef=mad/ ¢B 9

C/r e ghetk— =
W’;\?,,A{C( r‘k‘g‘

sl = yeSmad/edd: yemad /
' ln,nm s
Wl ®
i\ A" \ [RONP p
** DD g%n:adbwsgqxﬁgb B8; b
$H0,08 yesmd 8o Bsox B cre .

Bar chart/Column chart/Line/Seatter-Chevt/Area chart/Line Chart/

te

e YN g
U lcmét)zu

Botdtme eosDE eqew oo Sumnang q,4 Bondy

l

f
|

|
89 eb\)eb f

**Note: If more than one correct type of charts given mars glven

**Note : If ple chart is included In the answer no marks awardeq |

Aur v henglebev eevar vn Temdt 02 Marks)

\
mWomumuMmC@BQPOOWBDchﬂdod«:;S.;QM,\

S0) surin mlesifsecged Sctn sanc 558 ogm co¢ dao Eowf (Aie) v oud
odvolls cio Suly Ug0 UL |
Name Acc_Ne Tpe | Rate Moath | Acc_No | Unis J
AB. Siv 0ol | R R | 1050 Jamary | 1001 [ g5 ‘
V. Balsinghem | 1002 | C C | ks | IFRbaan | 1000 | [
SS Gemage | 00 | ® Jamany | 1002 | iy |
RT. Alles we | C My | 1003 an_J
() ol (primary) cqk e A0 epg 0 ofe S celtetn,
wBewniGn (¢=ofql) —Acc_No Klae . NE - Sanld e
©ef (9q0) —Type correck) q 5 elled

*udon : 0x 0Q0H wew: AO168 Hounw 1Ov edny |

Hody o) qdnd BB e e om0, j

O gw s “_" q0an® emmbd» gnd, dody 20 ;

) S hodet st

8g 8w gonbaz eb.

A afsief s oo ENEV %
u-R\t\,:.q'na-Xéc"\*A_s_,)f e . =cneG 02

Move Neow L swsees

No  prmasks W\ be w;\/‘?"’

Customer_Data (table)- Acc_No
Rate (table) = Type

**Note : if more than one field given for a table NO marks awarded, ‘

‘_"is NOT essential for table names

EemeL R A2y FLa NE~S
ey emeses. .

|
*_'is essential for field names |

|

[1 mark*2,
=02 marks)

U-WuM“NMMWMIWWM_m”“m"m

Tt




gt’ 13 Y = ETI. TN O SEDS < 12 — .

w"‘“‘ copr odores
M,w.o-oﬂqo

o .o

4(“) D) M(Wm)mﬂmbmm*eﬂm

5m (0@d) —Acc_No
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